fI8R Tdemery uRier i, geHT

qy 2017 BT Afsdd U T3 chj STINHI ]
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ug (Section) -1
le

g ued (Objecti

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

gug (Section) -2
IR—aRIfTs U (Non-Objecti\le)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03( A& 6 3(P)

|| gus—1 (Section-1) ||

MG —J8l R 950 IR IS U IR Afed [ T 7 | wWie 3 3l a8 b 28 U 3y ST
3R 3MudI T 28 TeHAl & IR OMR SHEET WR <A1 31fFard 8111 | U U9 1 3fd &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

g~ u2q (Objective Type Questio‘b)

29.f9 § W PIF—T IR 91 BT dd B |

(A) FHT DI o (B) aRda = ok
(C) FauRdsT R ToR (D) Sudad &+
Which of the following is a element of sensing the opportunities. —
(A) Ability to Perceive (B) Insight into the change
(C) Innovation (D All of these

30.uRATSHT U= AT =Tl BieT g—
(A) yprafers g | (B) Tvsapa i Ferivor 4
(C) R=iigd Fraaa 4 (D) Re=irapa <ifer feariRor |
Project management is not concerned with —
(A) Functional Approach (B) Centralised policy formulation
(C) Decentralised Implementation (D) Decentralised policy formulation
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31. 9RO 3rfgaRe g—

(A) FHTSTaTS JreferaRer (B) UsTrardl sreieqawer
(C) fAf3ra srefarazen (D) 37 & |1

Indian Economy is —
(A) Social Economy (B) Capitalist Economy
(C) Mixed Economy (D) All of these

32. 91T 6T 3MfABR UG f2d BT GRev Serfl b ———IaRelIed a—

(A) e (B) faxirar
(C) \ar T (D) 395 & P &I
Protection of right and Interest of people is a ----- responsible of entrepreneurs.-
(A) Legal (B) Financial
(C) Social (D) None of these
33.a7fefe ot ———— FeiRa o<l g
(A) TTETT DY A= (B) TqETd I <M
(C) sggara @ faem wd #mn (D) 378 & P A=l
Economic Policies determine —
(A) Volume of business (B) Direction of business
(C) Direction of business (D) None of these
34, F9Te JU B
(A) oI gear srgurd (B) fAsaret srgurd
(C) =ler ewar JrguTd (D) SWa & ¥ By &l
Operation Ratio is :-
(A) Profitability Ratio (B) Activity Ratio
(C) Solvency Ratiio (D) None of these
35.31e] wHfa # wnfier e 8-
(A) <fh (B) TeR
(C) dR (D) 579 & ®1g =Tl
The term “Current Assets” close not include:-
(A) Stock (B) Debtors
(C) Car (D) None of these

36.fF=feRad 7aT # | {59 =re] IIGUTT @ TOMT H &9 H 8! AT SiTdl—
(A) TTTER (B) &TeR
(C) wirer (D) ¥& srfrfaa
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Which of the following items is not taken into consideration while current Ratio:-
(A) Craditors (B) Debtors
(C) Furniture (D) Bank overdraft

37.3efAdr e dRIGH U Hidl a—

(A) SRIoTTRY (B) JSTTR
(C) FsTaR (D) AT
Entrepreneurial development programme provider —
(A) Unemployment (B) Employment
(C) Corruption (D) Dishonesty
38.9Rd # SAMAT HRIGH & 8—
(A) 9wt (B) ara®a
(C) GuR I Araggehdr (D) &
In Indian entrepreneurial development programme has been:-
(A) Successful (B) Unsuccessful
(C) Need of Improvement (D) All of these

39.3afHdT faaN HRIGA & UfT IRA & IRENI T BT GREDHT g—
(A) TIHD (B) TDhXTHD
(C) =TS (D) =N

The attitude of Indian Government machinery towards entrepreneurial development
programme is :-

(A) Destructive (B) Negative

(C) Constructive (D) Non co-operative
40.5NRg" R 8-

(A) Mf¥=aar CEIRIEEEEI

(C) SWRIad g (D) SWRIad # | PIg el

Risk is the result of:-
(A) Certainties (B) Uncertainties
(C) Both of above (D) None of these

41.A9a1i¥ye SRIH & BRI I~ Aol BId—
(A) TR HAifa # aRda= (B) 3reT et
(C) 939 FHHAN (D) UreR W

Risk is the result of —
(A) Changes in government policy (B) good Management
(C) Employee Dishonesty (D) Power failure
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42 . FHAR) BT 391 fhd aRE BT FaT1d SRGq & —

(A) T (B) wrepferen
(C) amfdien (D) aRerY e
Dishonesty of employee is the type of cause business risk —

(A) Human (B) Natural

(C) Economic (D) Govt. Type

43,9990 & —

(A) vfo® (B) 3maea®
(OEEIEERED (D) w¥ g B §qidT

Co —ordination is-

(A) Voluntary (B) Necessary

(C) Unnecessary (D) Wastage of time
A4 e Refod fhar Sier 8—

(A) T ET & w7 (B) favm i & wem

(C) ydg TG FHHAIRAT & A (D) SWad |1 & Wy

Co —ordination is established —
(A) Between Group (B) Between Department
(C) Between management and workers (D) All of the above

A5.99% &1 URfT T —
(A) ST Ufer T & w9 H (B) arfSta ufer @& w9 H
(C) ST=otTe qerr 31T uferr & wg # (D) 378 & P A&l

The Nature of Management is—
(A) As an inborn ability (B) As an acquired ability
(C) As Indian ability and as an acquired ability (D) None of these

46.9 &I IR o—

(A) =g (B) HreA

(C) erfthmr (D) 374 & P ol
The essence of management is —

(A) Co- ordination (B) Organisation

(C) Staffing (D) None of these

A7 RIS TAT M & ER Yae & Ygd BRI 5—
(A) 5 (B) 4
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(C)3 (D) 2

According to “kontz” and “odonnell” the main functions —

(A) 5 (B) 4
(C) 2 (D) 2
48.f ya & = B B
(A) fo<ia o= (B) ®INT BT YT BT
(C) g& @™ @1 e (D) SoRIa Wt

Main function of financial management are —
(A) Financial planning (B) Procurement fund
(C) Allocation of net profit (D) All of these

49.f<rg uewr 23—
(A) BT (B) fasm=
(C) ert 3R fasm <Y (D) 399 & PIs A&l

Financial management is —

(A) Art (B) Science

(C) Art and Science (D) None of these
50.950 e # affera g—

(A) afer Ysft (B) ST¥aT & ST

(C) s sHfa (D) 395 & P &I

Capital structure includes is —
(A) Share capital (B) Deposit for public
(C) Current Assets (D) None of these

51.%=arsfoiT & 3f=id—
(A) 3dE R I3 BargoR & U
(B) STTE WR AU BeaigsoR & BT H
(C) 3wt T
(D) 57 ¥ I8 =&l

Under Franchising —
(A) Control of the product remains in the hands of franchisor
(B) Control of the product goes in the hands of franchisor
(C) Both above
(D) None of these
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52.31e dve @ faemang g—
(A) et T
(C) sy ®

(B) &Rl
(D) 3 =+

The characteristics of a good brand are —

(A) Short Nane
(C) Attractive

(B) Memorable
(D) All of the above

53.f7%% # 9 B9 U HH B A< faavor &1 vrT T8 2—

(A) &4 BT+ @ran
(C) oioR &

(B) s fRrgr
(D) 579 & BIg &l

Which of the following is not a part of financial statement of a company —

(A) Profit and Loss Account
(C) Ledger Account

54.fa<f fdaxor BT 28—
(A) yTlRa dea

(C) rgarfie qe

Financial Statement are -
(A) Anticipated facts
(C) Estimated facts

55.fa509 BT ST B
(A) F=ITfad Bl &I MdNT BT

(C) SUIET &I TR &Rl

The purpose of advertising is -
(A) The attract potential buyers
(C) Advertising of the product

56.30dT # Fauydad &I &A1 BT M 28—

(A) U I STE BT YRY
(C) 7w =t

(B) Balance Sheet
(D) None of these

(B) srfieiRad ey
(D) 579 & ®1g =Tl

(B) Record facts
(D) None of these

(B) U8l &I JAd Ud ANIGRA &HRAT
DER

(B) The inform & guide customers
(D) All of these

(B) Saure @1 <3 fafr &1 uanT
(D) s & ®1g 7Tl

The process of innovation in entrepreneurship means-
(A) Introduction of a new product (B) Use of a new method of production

(C) Both above

(D) None of these
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Multiple Choice Answer 1 To 28.

(1) D (8) C (15) B (22)
(2) D (9) B (16) D (23)
(3) C (10) A (17) C (24)
(4) C (11) C (18) A (25)
(5) C (12) A (19) A (26)
(6) A (13) D (20) D (27)
(7) C (14) C (21) C (28)

%k 3k 3k 3k 3k 3k %k >k >k 3k 3k 5k 3k %k >k ok 5k %k %k >k >k 5k 5%k >k %k %k >k %k 3k 3%k %k %k >k %k %k *k %k %k k
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“ wug—Il (UNIT-11) “

oY I e (Short Type Question)

e — J8f 984 AR g ITRIY U & T 7| w¥er H s ajE 8 U Q¥ S SiR |
8 Ul & SR AT Ifard BT | TS U <9 3fd BT BRI | SFIR URIET H 39 X TR H U b
IR T T I 3fH U B D |
(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answers to all 8 questions are compulsory. Each carries 3

marks)

1. Feafa @ &?

What is the price policy?

IR— TP [AHMee Faar™ BI 01 o I BT FHI—FFI W JAdHA DR 8T =My |
T o B fore dwa RuRer &1 dew Sfaa & iR Y Sel @ eMd Tedl o ufdgfeal
o FeIfad ufafear denfae A0 ares ufafear arfoie ded, SUMTadr SMdhreTe wrdl faard
e R e wY ¥ IR axa 8 fu IdEl b1 o FeiRa w1 =1f3e | e w4 @l
IR H @Ad ufdsT o Bl 7| Faa & e 19 fRaR & | 98 gfia T8 g
IRY | e B IR—PHd Ufagl W 9 &I <1 =1y |

In a seccessful enterprise the pricing policy must be open to appraisal from time to
time. While pricing for profit is justifiable, even then an cntreneur has to take into
account several factors before determining the prices, like possible reaction of the
competitors legal limitations consumers reaction social objective the consumers
aspiraction and probable development etc. Every firm is known for its price reupted
this should not get adversely affected on account of growth and development. An
entrepreneur is supposed to think in terms of non price competition.

2. fqaRor Aregm @ 2
What is distribution process?
HH I3 BT IWUEH AT & 9T 2 2. afed I= Af~ad Iuaaneli o ggamr 1 aifyard
2| Xl B ifraw SuHiadlt d% ugam & forg S sierar fmtar Rm—faf ger Aeet
S i RTANI, Beh) ATIRI WD S B Hag oIdl &, o [daR0T & HARIH Byl Sl
=

Only producing the goods is not sufficient but it is coupulsory to reach them to the
last consumers. The service of the various kinds of mediators such as whole saler,
retailer, agents taken by the procuder or manufacturer for making the things to
reach last consumers are called channels of distribution.

3. G9—fI=gg favemer @i raedd 2?
Why is Break-even analysis essential.
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o favemor &1 qadia off oM & FEeE v friEe § 9gee e 81 98 oM ud
NI & Wl WRY WU B4 H Ge—e Bl © | ga-f9woe fdrg B S @ e
fIgall & wegd 9 W fBar S ¥aar &
(1) T I5— Ig fATelvoT Udy & §Hel HRUN BT Far Ud Bl & |
(2) SIRgA AeaidT—RIT & edidwd § FH-fIwe fgomy Fwl Iwarh g Bar B I8 ™
W, dTell B, faea fasor anfe el & ww= & 989 ¥e@a Udid 81T 2|
(3)T—guR:—qH—fdesT fd=g Ud & AIAT § 31U PI TUMT $9 ARyl & SRR &
S 2| 6 SR W o™ &I P9I &R dTel BRI &) SIFGRNT U & Sffell § |

Break-even analysis is a technique which is helpful in planning and control of profit. It
is helpful in making a relation between profit and cost. Following are some points
which clarify the utility of break-even point.

(1) Diagnostic tool:-It present diagnosis of reasons before analysis management.

(2) Risk Evaluation:- Break-even analysis proves very useful in the evaluation of risk
assessment. It is very helpful regarding the decision of order acceptance shift-work,
sale mixture, purchase and make etc.

(3) Profit Improvement :- The break-even point and profit volume ratio are calculated
under break-even analysis and the improvement of the profit is obtained on its
basis.

4. IR G W 3MY T AASTT B2
What do you understand by Human Resoures?

T | gareE faemE €, 9l [ftea 81 &1 g2 AFdy ddE €1 iRl g9 & | 3f:
A FATEE Uh A% AARE BT § | S U SUGH &1 el WUl S A% el
g, =g srbel Wl B WY TE R Fhd1| g9 (U Y A G W R I8 8
gedl & | SUBH T & folU 3 HHAIRAT &) Il Bldl & | SHD HHAMRAT BT Bhs Aol
H B Ud SMIIHATIR dCaRl S9a] AFIAgaR Fgfad @ SRl & | 3fd: A d \E9eE &
A YSEIDHII,IR JaIDH qHA1D! A G T T8 & HHAN I & | a1 anffead
ATE & a1 Ui Ahe Tl 8 el 2 |

All the available resources are of little use mobilised by the human resources. As
such, human resources is the most operative and active one. An entreprenure of
course is the captain of his project but can not perform each activity by himself. He
has to depend on other human resources. Many workers are needed for operating
project. For this various categories of employees are recruited as per requirement
on the basis of their abilities and qualification etc. Therefore human resources are
comprised of manpowers technicians, skilled and non skilled employee. With their
joint endeavour and co-ordenation a project canot be successful.

5. GeTSioiT FT g ?
What is Franchising?
GeaTSioT @ ST el Q¥ & A= W H 37U 1f¥iqd fdddar 981d o <dr 8, Sl Sad
ST DI Io BT B HIAT © | MG [daa & A1 H ITH DI A &1 DI ML hd]
Bl 2 R Toad fdaar o aftres & & foy go Saae # e &nfe &1 §8RT daw
I BT IR H g BRIl ¢ |
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WA TG H BRRIT Udh UBR & ShaRl el 2 e =<9id U Hed? ATIRI

U ST & 1T U IHsiaT &ral § fb Sdied & Al 12dl Jdel @ faey e fAfded
PRI 31T HHIYEH B I8l B BT APR FIudT 2 |

As per franchising strategy an entrepreneur establishes his sales force in different
part of the country who does the job of selling. Yes the entrepreneur is required to
be cautious in the selection of the sales person because an unbecoming salesman
with an aim to earn more profit can exploit the situation by means of adult rating
the product can give a bad name to the entrepreneur.

In the simple terms, franchising is a sort of contract under which a franchise
makes an agreement with a franchiser for the sales of services or the merchandise,
the franchiser entiles the franchise with the right by charging a certain fee or
commission.

. foell R wert T 8 ?

What is Discounting of Bills?

fIell R Fe & ®U A §® k0T <7 B A T aRudadr @afd o = @1 ¥, S @ afd
U Bx oIdl & 3R 39 UbR 9 &) weldl § ¥ Y 99 Sl 8, I9h] R0 & wq § YEh
BT < f3ar ST ® iR uRuyaadt R §& uTEd | 9 R U AR odr 2|

In form of discounting of bills the banks from the date of extending loan to the
date of maturity, deduct the amount of interest from the amount of the bill and
whatever the amount is left is given to the customer in the form of a loan and till
the date of maturity, the bank receives its total amount.

. TIolde Y 9D T ?

How are the projects helpful?

Uroide & SR fAemedf o Jgi~ae JIHeRT &) adfdd I aId 89 BT AleT Hoar & g
faemeft &1 I8 SF9 @1 drer Baar g e e sy fOvy &7 rIye dRd 9Hd ol
RIgr SeM Ug ® a~d # I I9dT fha A a@ A wR Adhd § Afd dGiad S @I
19 ARG S W AT AT ®, T4 aRdfdedl BT gdl gerdl § | 9@l deay I8 Je) (B
Agifedd 9 &1 TSl & &l & ddol IRafdd = & T g | U0 A81 & Agii~ad o1
JAIGEIRG S & 99T R 2 |

During the project the student happen to come closer to the reality of the
theoretical knowledge, or they get on apportunity that during the cource of their
study of the business subject wherein the the principles they have studied if
coupled with the pracital knowedge, then the truth is realised. It does not mean
that the therocital knowledge is required and only the practical knowledge is
enough. But it is not so that the theoritical knowledge without the practical one is
incomplete.
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|| gus—III (UNIT-111) ||

<re ST w2 (Long Answer Type Question)

e — J8l 98 IR <" ST Uy A W g | wlen H gl dRE 3 U I S &R | 3 Al
@ IR AT AR BT | U U B b P BRI | 3R GRIET H 3777 1 '8 ¥ Yol & IR
T TS 3fH U B A |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

8. T yalgA™ # |fAfeld BR®I &1 A HIRTY |
Discuss factors involved in demand forecasting
ART gatgae # FEfaRed aR® 39 U6R 5

(1) qalgAe & vas— 2 e @t & fifre fasar Srar 2 |
(@) SreUBIT qargad — FAD! MAHAH A Toh (1) 9§ B Bl 2 |
() FeFBI QAIIAT — SADI AT 1 2 9 Bl g RTH T &R Fared  difeldl Ud
T B IW Jored! a0 & R & foy Suged 2 |
(1) <rEBTAE qagHE — 9@ =D 3 9 10 a9y dd DI @ Yoind @, ¥ iy
JATILIHATY TAT WISl U fdhr & MER g &5 & MR & oIy Suad FHsh il & |

(2) YaTgAM & WR— I8 Ul fgaRelT & ARG a9 AT Bldr & off fb SNifie
IATEH Td TR T & 9 & |wqfaa Fdene grT @1fid gr 2

(@) geA R Yarga— I8 Sl efeaen @ @Edids wdal | Heed gar g ool fé
e Sared Td I - & wfd fAdenie g1 Al 2 |
(=) BH WY YaigAr —giedlv | Ja9 Jgcdqol 8idl & |
(T7) SERT TR YaigaH — s961 3707 =1 R el gy far S 2 |

(3) S BT TAPRU— IUET DI IAGA IRIQ Td IUAIHRIT a3l & w9 H aifidpd Bl

3faIH BT 2 |

(4) @M= Ud faRre gargAE—

(5) oA @ FRRIG U9 AR Yaigae & gaei ud ARl ) Skl & 9ey ¥
IR SedTal & FHRRll vd faferi & =1 gri |

The following factors are attributed to demand forecasting :-

(1) Length of Forecasting:- It is further spilt into the following sub factors:-

(a) Term forecasting:- The maximum span in short term forecsting is 12 month
which is considered adequate for determining the sales Volume inventory
control production level and the capital flow etc.

(b) Medium term forecasting:- The span in this regard range from 1 to 2 years for
ensuring disciple level operational level and the budgetary control over the
expenditure etc.

(c) Long term forecsting:- This term forecasting vary from 3 to 10 years are
considered to be aquate for capital investment expenditure employment
requeirement financial needs etc.

(2) Level of Forecsting:-
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(a) Micro level forecasting: - It is related to all the business conditions in the
economic management which is strictly in accordance with the determined
standards of industry production, national income & expenditure.

(b) Industry level forecasting:- It is determined and established by various
federation.

Classification of Products:- It is essential to classify the products as the productive

and consumerable items.

General or specific forecasting :-

Problem and method of forecast:- Problem and method of forecasting are different

in case of old and new products.

9. JUra fazeiyor &1 AR W YHTel Sief |

Discuss the limition of Ratio Analysis.

argura fazeryor W @1 facia Refd vd ggear @ welRid o< # e we@yel 8 2|

g o fo fferRaa 8-

(1) T aRemE— Jrgud facia faerell R menRa 8 & | Al fxig fJarol & sifwst gg T2l

g 1 99 W AmRa srgurd W Ted B8R | e ey @ wu H Merel T aRarer W Ted

BT | oAt Ugfa # fl eFe el @ 2, o 89 WR MIRa orgurd Wt fvaw i T8 &

A |

(2) WA YA TreaTdell BT 39— B ARl & AT 3T 31 Bl &, O BB BH oA Pl

T & gd Td PR B 915 ol & TAT HB BH o B 10T Ud IR & 91§ ol 2 | §Y BH b

ey @1 =re] R A € A {8 IR ATel, IR A ¢ |

(3) TIOUICHD USRI DI faRel— MU ATVl FaH™ & TG B URAMHD AU 2 | I8

BH & TUIHD US| B fageldl HRAT © Sl b WK BRAT & [ SIJUIT AT Bl BRIETHA

BT TP YETT SFALROT ¥ |

(4) TP Ueg @URI— U fAvelvoT var wefi faveror g | a8 foia 2q mavads o &1

T 3 IUARS BRI & | A [T fJaRol &1 Gew fagetvor 8q gurd &1 UANT fageivor &1

T AR & ey fam S =nfev |

(5) Tder U BT WG TINT— Ul U AAY0T a1 I« § [ed &l BId1 2| 31 Ud

fed Refd &1 w9sm & forg 9ga & orgumal &1 T0MT &1 aeddar sl 2 | fafay srgumdi

B ToET A feETT 9 8 adar g |

(6) AT Jerirad— <1 BAT & GRUTHT & T BT Sl Fahell © fbeg I8 O T99d & 919 ST

HAT H UYFd oldTdhd (ARl U BT | Ife d ST —3felT i Al &1 WA &_el & df

SAP] JAIHAD eI AT Bl B Al | $UI UBR JATAT BT TN, GIaemsil &1 Syt

T Hae R W At wEl @ oy faron @ waifad axa ¥ O wAT & srumar @

JeTT WS BT |

Ratio analysis plays a crucial role in exhibiting the financial status and strength of

an organisation. Although the ratio analysis is a potent tool for the management

yet flawed with certain limitations which are follow:-

(1) False Results:- Ratio are based on financial details if the statistics and figures
contained in the details are not true and exact so are the ratio based on them.
Which lead to the wrong inferences.

(2) Lack of Staudard Universally Accepted terminology :- Different words have
different meanings as several companies consider profits prior to taxation and

some consider profit after deducting interests and taxes.
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(3) Ignoring Qualitative factors:- Ratio analysis is a parameter or measuring yard
stick for a business execution. It tries to qualitative factors and tends to explain
the ratio is a measurding device to see the operational efficeinay of a venture.

(4) One sided analysis:- Ratio analysis is a one sided phenomenon which provides
only one aspect of the desired information. Therefore the micro analysis of the
financial statements must be coupled with others analytical processes by
expolting the ratio factors.

(5) A single product ratio is indadequate in provding a meaning ful information and
in order to understand any exat position a multidimensional analysis of ratios is
needed .

(6) Limited Comparatability:- The result of two organisations are comparable but it
is possible only when the accouting procedures a comparative study is not
feasible.

10.f0vM & el W UHTeT Sifery | A7 U vy & Sevdl by ford |

Discuss the objection of marketing.
Or

Discuss the objective of marketing management.

AU Jaee &1 Feqd IeeT IR H IUTE DI AN I~ BRAT UG YTSh] DI ATaIBRAT Dl

gt BT B | 39 T BT O H @ gV fAUvE yee &y Sevd eIferRad € |

(1) AT BT GO HRAT— AU Y BT Yo Ud Hewaqul Ieed IR § IATE dI ART a1

AT B | I8 BRI IuHIGaie & U Af yeR @ Jad aiftfa o=, fasmoe vd ey A=

@ SURN & HIEIH W T fhar ST g |

(2) SUMIET Hgfte— AU Uay &1 SERT He@yYl Se¥ SUMIETe Bl Ifftdhdd d<ftc U&=

HIAT T VAT R & oy AUUE g IuHIRsll &1 Aaeadhdisll & AR & Sed

TG BT TG BT & 3R SHBT fITRT BRI 2 |

(3) IR RN — fJuuH Yawes &1 -1 Aegayul ST d6/R ¥ Ul fRiqR) a9 @1

Td IHH ghg BRAT & | SaeRv $ fy, Uil qT dIdbrdlar Sl GHl ok H O SUAT

RN o) @ Td S9H 3G IR @ foly WRER ufRifar exdl 7| s9e forw fasiE

@ Fag= doar ISR anfe & ¥ T d¥d U B |

(4) IR wd SHBfd— fAUoE yee &1 Alr 9EY0l SR II6R 30 BRIl dT IS G

D @A Ud SHld Qe &R & I8 BRI UT8d! &I Ifed Jedl IR JAT F9I WR Td 3]

Ul IUTE YRS BRI YTehl H 301 U3 q1hx fhar SIar © | S — CTel, d1el, MexI

e |

(5) o Ford — @ de [Aea H yger Say 7 | M frae offdes 9@t gnfl, o a1 |/

Al Ia & e BRfY | erud uevee @l @ 9fg @1 'R Wva waE aRar B afe B

TGS SHTS TAT o™ AT &1 el & aF IR # feds 181 Fandll 7 |

(6) THIST HaT— AR FHIST BT T T | (AT AHINVIG IaAReNId S 91 B8R | 9

foU amaegd & 6 98 WfEa oM Afid & | Ao IARaIRd AR IuHER & Ui,

HHAIRIT & U, Td IRBR B UfeT Bl 2|

The fundamental objective of marketing management into generate the demand

of merchandise and cater to the customers requirements with this objectives in

mind following are important objects.

(1) Creation of Demand:- It is the first foremost objective of marketing
management to creat demand of a product with market. This objective
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becomes achievable through the service to the customers adverting and sales
strategies etc.

(2) Customer satisfaction:- The second most task of the marketing management is
to provide the optimum satisfaction to the customers. For doing so, a
meticulous study and survey is conducted to ascertain their needs.

(3) Market Share:- It is the third most important task for the marketing
management to retain its share in the market and to ensure its growth.

(4) Goodwill and public Image:- The fourth task into established the goodwill and
credibility of its company in the market. This task can be accomplished by
providing the customers with the products at reasonable prices by maintaining
the standards so to gain credibility of the product among the consumers like
Tata, Bata, etc.

(5) Profit Generation:- Direct relation is found between sale and profit. Generally
more is the sale, more profit can be earned so manager makes every possible
attempt to increase sales. If any interprise does not earn adequate profit, it can
not remain in market for a longer period.

(6) Social Service: - Business is a an organ of society and it is the marketing
management that ensures this social obligation. Therefore it is important for it
to generate the maximum profit. The responsibility and obligation in business is
always directed towards society, customers employee share holders and the
Govt. etc.
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Describe types of project.
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The important types of projects mentioned in the following points.

(1) Research and Development projects- Those traders are fast being intruded into
by technological innovation a lof of money is required to be invested on the
research and development programmes.

(2) Diversification project- Any project which wants to reduce its risks instead of
giving its product to the same market, can start its business in different

markets.
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(3)

(4)

(5)

Expansion projects- For any business organisation, when there is growing an
instence demand of its product resulting in short supply, it becomes quite
imperative increase its production capacity. As such an additional capital
investment is needed.

Replacement project- Such project refer to the events of ruining or destruction
of the capital assets, or the technological failure resulting into a statement,
there is a need of replacement project. As such in this event, the old machines
and equipments are required to be replaced with new one replacement
projects for establishing new infrastructure are induced in this project planning.
Miscellaneous Projects:- Such ventures that need to invest in those projects
which are not directly related to the earning of profits for example due to legal
obligations an organisation is required to instal the pollutions control
equipments. As such projects, it is the miscellaneous projects which are
required.
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